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Find the value of the variable.

1) 444 + B = 876 B = 432

2) C = 914 - 586 C = 328

3) E - 508 = 432 E = 940

4) F - 747 = 153 F = 900

5) 651 - 637 = G G = 14

6) 509 = 286 + H H = 223

7) J = 861 + 69 J = 930

8) 517 = K - 331 K = 848

9) L = 135 + 584 L = 719

10) 836 = M - 132 M = 968

11) 69 = 194 - N N = 125

12) 758 + 190 = P P = 948

13) 967 + Q = 1,000 Q = 33

14) 845 - 584 = R R = 261

15) 880 = 945 - S S = 65

16) T + 945 = 1,000 T = 55

17) 812 = U + 377 U = 435

18) 783 = V + 779 V = 4

19) 899 - W = 121 W = 778

20) 997 = 967 + Y Y = 30

Answers

1. 432

2. 328

3. 940

4. 900

5. 14

6. 223

7. 930

8. 848

9. 719

10. 968

11. 125

12. 948

13. 33

14. 261

15. 65

16. 55

17. 435

18. 4

19. 778

20. 30
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Find the value of the variable.

223 900 14 125

930 432 719 968

848 940 328 948

1) 444 + B = 876 B = 432

2) C = 914 - 586 C = 328

3) E - 508 = 432 E = 940

4) F - 747 = 153 F = 900

5) 651 - 637 = G G = 14

6) 509 = 286 + H H = 223

7) J = 861 + 69 J = 930

8) 517 = K - 331 K = 848

9) L = 135 + 584 L = 719

10) 836 = M - 132 M = 968

11) 69 = 194 - N N = 125

12) 758 + 190 = P P = 948

Answers

1. 432

2. 328

3. 940

4. 900

5. 14

6. 223

7. 930

8. 848

9. 719

10. 968

11. 125

12. 948

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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